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| |Question i A B C D A I B. ! c | D l

3 2
A= then 4! =7
4 3

1 A“=-___;A=[3 2}),] {_43 i} B ﬂ [_32 ﬂ O O O O

if 3i(2i+1)=x+3ithen x=7

2 -6 6 3 -3 .
x=77 32+ =x+3i Ji O O . o 0
1 .
f log, —==x ,then value of x is:
J5 1 -1
- Sfeifriiog, tax A 1 2 Bl © 0.0 0
forbledd x dog, —==x !
. gs NG
For which of the following expressions a+& , ‘
4. is NOT a factor? az +b2 ag —b2 a3 +b} a4 +b4 O O ‘ O O
te Gtk e UM At ath |
b
Simplified form of s
p a=b @ -b +b b +2 L
: + a a ‘
3 5. ?q_Lff’qJ/‘""JL-Pz—b; PR s R b O O O O
| a-b a' —-b
L LCM of {(a—b)* and (a—b)’ is:
| 6 ( ) ( {a—b) (a—b) (a by (a-b) O O O O

B el P 1k (a—bY oo (a—b)*

The 50|uﬁ0n of|3x{ =2 is: {2} {_3} {3} { 5 2}
7. — — el ==
| seVer ¥ =2 13 2 2 T3 O O O
Th int (3,~4) lies i drant: .
1i N e point ( ) lles in qu“a ran ; II 0 ” O O O
e Ot (3,4) 4
' Which point ligs on both axes (xand y )?
9 ‘-‘{—é'!{.( yx )_rf uﬁ»_&'ﬂ'u/ (—1’0) (1’ 0) (0’1) ’(0! O) O O O
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i Question

S
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c

D

10,

The diagonal of

does not divide it

into two congruent triangles.

?t)/u:‘}(:ﬁgﬁu;‘bdiu"»nylhK(I(:_Jufibu

Square

&

Rectangle

Vu

Parallelogram
Luemgar

Trapezium
a3

1%

In AABC,D and £ are

mid points of A8 and
BC whereas DE is
parallel to AC, then

X =:

cE Dt AABC 2t
L BC 4 AB
Jei51# L AC « DE 19

i x

10

15

2.5

12.

The length of 4B in

given figure is:

Vil 4B £ F TS

fe

B
3x x+2
A D [

13.

triangle?

?wcu»rﬁé,ﬁ‘ug;uféﬁe}bu

‘Which of the following are the sides of a

3,4and?8

3,4and5

3 4and7

3,5and1

14.

In the given figure
DE||AB then, and

mAD ﬂx,mD_Czﬁ,

mBE = 2, mEC =4
then find value of x :

DE| 4B F & 6
. sle

m%=x,m5—é=6,

mﬁ:%mﬁmtl
IEIEP AP

C
6 4
D E
X 2
B

A

15.

Area of given figure is:

e IHPES

C
A 2] B
8

14

24

43
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MATHEMATICS SSC- |
(Science Group)
Time allowed: 2:40 Hours Total Marks Sections B and C: 60
_ SECTION — B (Marks 36)
G.2  Attempt the following Questions. | (9 x 4 = 36) TS i 2_/" Jis
{H 11 2 6
If 4= | o .B= 4 7 then find X when
4f
X+44="1B Solve using logarithm 2
- . 1x4 | OR 2.981 1x4
fw"q‘ffﬁl”\-‘;‘:ﬂ; X;A=L 2},B=[_4 7:1)7 _L,[/(d’c:_u(f(‘?f)
X+44=TB
(i} 4™ R ] §m=2al y g-2m Factorize using suitable formula:
Simplify: > -
10 mxzsm n 64 b __1—
“u:),/;; 1x4 | OR JEPE: . 1x4
LS SF aralur ool

{iii) IFind the value of x , when1 P-n=3 6 2
x 0g, (x" 1) If 4= A then show that 47 4=/

1x4 OR 1 1xd

L o, |6 2],
A A—Ifu_‘f-.—:wA—L 3}/:

e log,(x* 1) =3 S 2w e df x

(V) | fa=+10+3, then find 11 —
If Z=Z_§i then showthat Z+Z=2Re(Z)

1 1 1
a)a+; b)a—; C)az-i-;“‘"z‘“ 1x4 OR 1 I 1xd
Z+Z=2Re(Z) S S eikd Z =i ]
-J_/(:"’?ﬁa=\/ﬁ+3fl 4 3 7

(v} iUse factor theorem to factorize: |2x+3|

Solve —————2=§
3 2
x+8x +19x+12 . 1%4 OR 3 ix4
4;{/;)’:__:;(,(&57.;% _Q:/J’
{vi) Find HCF by division method If x—y =3 xp=3then prove that x’ - = 54
3 2 3 2
x'—5x°+5x-4, 2x° ~9x" +9x-7 242 | OR ixd
_q/p"’,ﬁ‘d,gz),(y!;b ¥ -y =54qu¢4&;‘x—yﬂ3,xy:3/fl
(vii) |Write the given equation in y=nux+¢ form and if the given figure PORS is a parallelogram,
x v then find the values of 2 andx.
findvaluesofmand¢ ~-==-6 s

) R
2 3 Ga+ 10y nee
= 50 = X
_u:/(()”u[f‘:{;cmnwlgﬁ”ﬁufu&Jy—mx+cf2 ] 6 1xd OR - xd
P a

r_,l"‘uf’-’:.Jx sla ?:’:CMUIJ)JF‘VQ PORS f&fd}ﬁ

S
(viii) | Prove ‘g\a: ar;); pomtt on the bisector of an angle Verify that the points. (—2,-8),(1,1).(4,10)are
is equiaistant rrom its arms. .
collinear.
U:PLU::JE,LJIMugﬁguﬂtﬁe“_;ljtf(f;{_/ql? ix4 | OR 252

b (=2, -8, (L,1), (4,10) S g =t

~e b ol
() IFor the given figure 4B= AC and D is mid- In AABC,LM || BC and mAL=5mLB =10,
point of BC . Prove that L1z 22 A miAM = x,mMC=18—x, then find value of
mm.
K . . | 1x4 | OR x4
&E-@ﬂ&JKBCbDJ:I%EEE ufdﬁ'fu;
e A=225yS

mAL = 5,mLB =10, s LM || BC J* ABC &4
-u_‘/r:"" mAM 3un mAM = x,mMC =18—x,
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SECTION ~ C (Marks 24)

‘Note: ‘Attempt the following guestions. {3 x 8= 24) _L,gf I lire s 1o
Q.3 | Use matrix inversion method to solve system of Prove that “If two sides of a triangle are
. . xty=5 unequal in length, the longer side has an
linear equations: , ~ y=7 angle of greater measure opposite to it".
S F rnbrho Ludifesn L uind | 2 | OR | L8 doiifumsaid§tmn Lot Sy St | 2
(s, Lalid b c’f.wic“ e Slidbel
_(fﬁo)_l-j
Q.4 ! Prove that “In a right angled triangle, the square Prove that the Parallelograms on equal bases
of the length of hypotenuse is equal to the sum and having the same (or equal) alitude are
of the squares of lengths of the other two sides”. OR equal in area.
s 1 - o s L1 2x4 } - . 2x4
Utne il 80U o Eads D220 L0 St S LA 512 W5 st Do g sl 41 T S <o
cebngnd o L p LUdd St Al
Q.5 | Construct the triangle APQR, draw their Suholi -y . Xy 4yt ;xz —y
altitudes and verify concurrency. Write steps of N T Iy D S pyz x4
constructions. i
m}_é =8.5cm m& = Tem mLQ =45° ixs , OR -/ /7| a4
s S S Il EE S Nt £ S APOR 2
_u_"gu‘?’djﬁuggz_nﬂﬁ
—— 1SA-] 24008-(B)—
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Fill the relevant bubble against each question according to curriculum: Céndidate Sign.
| | Question Ji A B c D Al 8l c| o]
If A, B and C are three Non-singular matrices
such that AB=Cthen B=" C
- ca™ A'C c'4
B=77 AB= C::lux-_-«’b'uf;f’uf C o A,Bﬁ A . O O O O
if 3i(2+5i) = x+6ithen x =7
L2, ~15 15 15i —-15f
‘ x=173(2+5) =x+6i /i z L c O O O
1 3log2—2log5 in the simplified form is: 6 9 2 15
3. log— fog— log = log—
e Pl Ilog2~2log5 | 10 %3 °835 i © 0 O O
If x—y=4then which of the following is ., . A
4 correct? -y + X =y - X Y- Xty - O O O O
‘.’..:;_u:.f;:)-‘firufa_ufaﬁbu?ﬁ x—y=4fl 24xy =64 12xy =64 6xy = 64 3xp =064
When polynomial x> —7x® +1is divided by
x+1, then the remainder is:
ST e T e x+1 =Tl E e =3 5 -1 9 O O O O
¥
Simplified form of W+3 ! 3 is:
@ = @ 4q da—b da+b b
"B
TS 7 { N N 9a* —b* 92° -b’ 9a* = b* © 0 0O O
o 9* -b* 3a-b
The solution set of [2x] =8 is: '
—4 4 4 44,4
7. “+g¢rff|2x|~—~8 {4} { } { <x< } { 3 } O O O O
Which ordered pair lies on 2x—~3y =-6:
8. ?4_('5!;4 2x—3y=—6|}_e..:.:;‘zvuf¢.u!aff(y_u (6>2) ("6"2) (2’6) (“2’—6) O O O O
if A{0,-3), B(-3,0)are any two points then
5. [4B1=7 Ji§ 18 92 643 O O O O
|AB| = ?Funstne df 4(0,-3), B(=3,0) /i
Pagelof2 |
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10.

in a rectangle LMNO, mLN =20cm then
x=0P =1
0 N

L M

i mLN=20ecm S o LMNO J*
x=O0P=7

10 -10

i1.

What is the length of PQ in APQRIf
mPR =22 and mﬁ@zm@%
P

22

Q R

i mPR = 2307 Ssdaf 828 PQ ot APOR =4
-z mFQ = m_Qmﬁ

12.

What is the length of A_“B“: if area of

paralielogram ABEF is 63cm” and altitude of
paralielogram ABCDis7cm ?

£ D E ¢

A

Gt 0 63cm? 3.¥ ABEF tuen gy L1
¢ Snif Sl AB s Tem Jgal ABCD iy

3em 9cm 18cm

27em O O O O

13.

What is the value of x in the given figure?

AN

£3 I S
2l N
N\

[ ?Jﬂ_‘,f-.:—d_’:‘Jx JLPG{JJ

16 O O O O

14.

¥ AABC = ADEF then which of the
following is NOT correct?

gﬁ;.-’u}?lru}fbﬂuﬁ(y»? AABC = ADEF /i

te

ZABC = /EFD | ZCBA= LFED | /A=

a=F0 1 O O O O

15.

For the given figure, what is the value of X 7

A X
VW

W= x L LETS

50

[T

3* o O © O
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MATHEMATICS SSC-1

(Science Group)

" Total Marks Sections B and C: 60

SECTION — B (Marks 36)

Q.2  Attempt the following Questions. (9 x4=36)
(i)'fA1686C811hf
SR RS e IR =[8 1] then find Solve using logarithm
X when X =4*-2BC _L{/J’Q)JJ{?/O
i 1 6 6 1x4 | OR 1x4
=i X?A=[ 5},3{ 7}C=[8 ~11]./ 57.26
3/0.382
X =4 -2BC Sy /s |
(i) % o4 d Verify that the given points are collinear.
Simplify 2 x1Z X2T X3 (-2,15),3,-5),(0,7)
Y 3 1 x4 | OR 1x4
102><43 X182><814 —wbﬁﬁw;zé‘)qu;’-?
NN
(iit) " IFind the value of x , whenlog,(x* -7)=2 5 -3
* 08" = 7) If A{z J then show that 4" 4=/
- log, (=N =2 S 2 S i x 1x4 | OR 5 -3 x4
A"Ax[fq)::—:t‘;’A=[2 st
V) ity =Vs+2, then find 2 _
If Z==~=¢ then showthat Z -2 =2iIm(Z)
1 1 . 1 2 3
a) v b) =S c) y *7 | 14 OR B - 2+2
Z-Z=2%Tm(Z) Sy etd Z==_%; Ji
_u:)/r:j”‘}"ﬂy=«/§+zﬁ 23
(v} |Use factor theorem fo factorize: Find the square root of;
2 +55 —2x—-24 1x4 | OR x* =107 +31x% +30x+9 14
_qfdpa.ud/df._,l’/ _u:/pL"‘Ag
(Vi) |Find HCF by division method If a+b=>5,ab=2then prove that @’ +5* =95
2% ~Tx +x+46, 6x1 —x* —Tx-2 22| OR x4
_u_‘f(:l"‘r‘.‘ygg;},(yl;la & +b =95 ek a+b=5ab=2 /1
(vii) [Solve the inequality. If the given figure 4BCD is a parallelogram,
X45  25_4x then find the value of x and y
Il A B
1 5 .
S e g | X4 OR x4
i 3y +6)° 1082 i
D C
ey o x st L ABCD S E 5,1
(viii) |Prove that “Any point inside an angle, Write the given equationin y = rx+ ¢ form. Also find
equidistant from its arms, is on the bisector of it". : ¢ N
p valuesofmand ¢, =+ = =
el e s S 1 5 L0 quuﬂLé_;qu Ji| x4 | OR 13 242
g bl it L i nin -Lg/’}':‘**aﬁuff‘Jmm-ufﬁuﬁny=mx+cf~;~+§=4
(ix} For the given figure, find the length of BC In  figureST||OR  and  mPR=15cm
y mPS = 2cm,mSO = 3cm then find value of 'z’
1x4 | OR 1x4

B 24415 D 3x410 €

f‘(f:f,‘.f@ulfﬁ 4’.&}‘”’6@:

R
s mPR =15¢m 1 ST || OR AP
S ed S x JUs mPS = 20m,mSQ =3cm
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SECTION — C (Marks 24)

a3

Note: Attempt the following questions. {3 x 8= 24)
Use matrix inversion method to solve system Prove that the sum of the lengths of any two
, . 2x+y=1 sides of a triangle is greater than the length
of linear equations. 3 -4 of the third side
Ty 24 | OR i s REZ
_J”/J:—:,&JJJG’é:u::’ﬁ'fé.}ﬁﬁu;"lﬁb‘@;w J “rs ‘“i’ KU{HJC,WHJ[.;‘:—-VUA{ ’}/u:/‘:’!:
_%tﬁfzéél{'}
G4 | Prove that if the square of one side of a Prove that the Parallelograms on the same
triangle is equal to the sum of the squares of base and between the same parallel lines (or
the other two sides, then the triangle is right of same altitudes) are equal in area.
angled triangle. d,, Ojf x4 | OR u‘m!b‘ﬁG’ﬁdK/"‘ICUJIU!dﬂ?gl:/,:wl?{j"u{lfg,{_’/:a:f' 2x4
UGt e 0 vl E Ol el S ; .
T Uinénb R0 " ,}m(umfucwLusg)unc’,uuyﬂ[w({(wl?é
_q_dﬁ:,ﬁ‘ﬁ:lﬂl;fﬁiﬁu?n_auﬁwf[_u}’f/c‘.’.

Sunaat
medians and show that they are concurrent. remainder of —3 when divided by x-land
Write steps of construction. leaves the remainder of 12 when divided by

mXY =9.5em  mYZ=¥§m mZY =75 | 4x8 | OR| x+2.Find values of ¢ andb 4+4
r’fesfq;@ﬁmuf'{é.b)cﬁ LJ'-%{Q XVZ &5 ME =3 @i;.d'_/(—:‘r/ x-14 ax’ +bx —434;(
'ufgu{dj‘)':o“w”w _u_‘/r:l”uf‘ftfb saig12 JL:..-A__/E‘/_ x+2

—— 1SA-| 24008-10081(D)—
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